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	Intercept
	Age (ten years)
	Age (ten years) squared
	Sex, male
	Log-glucose
	Log-glucose squared
	Log-glucose cubed

	Intercept
	3.54E-01
	-9.58E-02
	7.34E-03
	-2.32E-03
	1.58E-02
	-4.92E-02
	1.38E-02

	Age (ten years)
	-9.58E-02
	3.12E-02
	-2.41E-03
	4.68E-04
	6.68E-04
	-1.53E-03
	3.87E-04

	Age (ten years) squared
	7.34E-03
	-2.41E-03
	1.88E-04
	-4.53E-05
	-3.40E-05
	8.19E-05
	-2.09E-05

	Sex, male
	-2.32E-03
	4.68E-04
	-4.53E-05
	2.24E-03
	-1.17E-04
	2.40E-04
	-5.86E-05

	Log-glucose
	1.58E-02
	6.68E-04
	-3.40E-05
	-1.17E-04
	2.69E-02
	-3.61E-02
	8.88E-03

	Log-glucose squared
	-4.92E-02
	-1.53E-03
	8.19E-05
	2.40E-04
	-3.61E-02
	6.99E-02
	-1.86E-02

	Log-glucose cubed
	1.38E-02
	3.87E-04
	-2.09E-05
	-5.86E-05
	8.88E-03
	-1.86E-02
	5.03E-03



